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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Describe in detail about the structure, chemical 

composition and functions of Ribosomes.  

jkbckslkse dh lajpuk] jklk;fud laxBu ,oa dk;ksZa dk 

foLrkj ls o.kZu dhft;sA  

2. Write an essay on Mendelian inheritance.   

es.Msfy;u ds oa’kkuqØe iz;ksx ij ,d fucU/k fyf[k;sA  

3. What is Biodiversity ? Discuss in detail about 

biodiversity concept.  

tSofofo/krk D;k gS \ bldh vo/kkj.kk ds ckjs eas foLrkj ls 

o.kZu dhft;sA  

4. Define Air Pollution. Describe its causes, effect and 

control measures.  

ok;q iznw”k.k dks ifjHkkf”kr dhft;sA blds dkj.k] izHkko ,oa 

fu;a=.k mik;ksa dh O;k[;k dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Write a brief note on Plastids.  

IykfLVM~l ij ,d laf{kIr fVIi.kh fyf[k;sA  
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2. Discuss the working principle of an electron 

microscope.  

bySDVªWku ekbØksLdksi ds dk;Z djus ds fl)kUr dks crkb;sA  

3. Give a short note on chemical nature of DNA.  

Mh- ,u- ,- ds jklk;fud LoHkko ij laf{kIr fVIi.kh fyf[k;sA  

4. Differentiate between natural and artificial ecosystem 

with example.   

izkd`frd ,oa d`f=e ikfjfLFkfrdh&ra= dks mnkgj.k nsdj 

vUrj Li”V dhft;sA  

5. Discuss Endemism.  

LFkkfudrk ij ppkZ dhft;sA  

6. Write a short note on nonsense mutations.   

uksulsUl mRifjorZu ij laf{kIr fVIi.kh nhft;sA  

7. Give a brief on Internet.  

bUVjusV ij ,d laf{kIr fVIi.kh fyf[k;sA  

8. What is Soil Pollution ? Discuss its causes.  

e`nk iznw”k.k D;k gS \ blds dkj.kksa ij ppkZ dhft;sA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct option in the following :  

fuEufyf[kr eas ls lgh mŸkj pqfu, % 

1. Function of ribosome :  

(a) Protein synthesis  

(b) Fat synthesis 

(c) Sugar synthesis 

(d) Protein storage  

jkbckslkse dk dk;Z % 

¼v½ izksVhu la’ys”k.k  

¼c½ olk la’ys”k.k  

¼l½ ‘kdZjk la’ys”k.k  

¼n½ izksVhu laxzg 

2. How many nucleotide are in a codon  ?  

(a) 1 

(b) 3 

(c) 4 

(d) 2 

,d dksMksu esa fdrus U;wfDyvksVkbM~l gksrs gSa \ 

¼v½ 1 

¼c½ 3 

¼l½ 4 

¼n½ 2 
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3. An example of biotic factor in a forest ecosystem : 

(a) Waterfall  

(b) Cliff 

(c) A tree 

(d) A rock  

ou ikfjfLFkfrd&ra= ds tSfod dkjd dk mnkgj.k gS % 

¼v½ tyizikr 

¼c½ [kM+h pV~Vku 

¼l½ isM+ 

¼n½ pV~Vku 

4. ‘Central Dogma’ proposed by :  

(a) Watson  

(b) Mendel  

(c) Crick  

(d) Khorana  

^dsUnzh; MksXek* dks izfrikfnr fd;k %  

¼v½ okVlu us  

¼c½ es.My us   

¼l½ fØd us  

¼n½ [kqjkuk us  

5. Ecological pyramids are of :   

(a) Two types  

(b) Three types  

(c) Four types  

(d) Five types  
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ikfjfLFkfrdh; Lrwi gksrs gSa % 

¼v½ nks izdkj ds  

¼c½ rhu izdkj ds 

¼l½ pkj izdkj ds 

¼n½ ik¡p izdkj ds 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

6. ‘Biosphere Reserves’ is a form of ex-situ conservation.  

^ck;ksLQs;j fjtoZ* ,Dl lhVw laj{k.k dk ,d izdkj gSA  

7. The word ‘chromosome’ was given by Waldeyer.  

^xq.klw=* ‘kCn okYMs;j us fn;k FkkA  

8. Smallest unit of mutation is Muton.  

mRifjorZu dh lw{ere bdkbZ E;wVksu gSA  

9. Plant cell wall is generally made up of Murin.  

ikni dksf’kdk fHkfŸk lkekU;r% E;wfju dh cuh gksrh gSA  

10. Coal is an example of renewable resource.  

dks;yk uohdj.kh; lalk/ku dk ,d mnkgj.k gSA  
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